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Module 7- Rational Functions (3% +3AXHZ0O Progress Exam 3
31. Determine the domain of the function below.
|.3x4S¥# 0 fa) = 4
3xt =S 152 4 40z + 25
X ¢-__S— A. All Real numbers except = a and x = b, where a € [-25.2, —24.5] and b €
[—16.2, —14.5]
Z X+ '10‘ All Real numbers except * = a and = = b, where a € [—1.3,—0.5] and b € [—3, —1.5]
X+

C. All Real numbers except = a, where a € [—1.3, —0.5]
D. All Real numbers except = a, where a € [—25.2, —24.5]
E. All Real numbers.
DOMAIN IS ALLRE AL N C -3 -

32. Solve the rational equation below. Then, choose the interval(s) that the solution(s)

belongs to.
9 -7

3z +2 24z + 16
A. x; € [-0.17,0.14] and x5 € [0, 3] "l""X'HB 8("5)(-!—1)

. All solutions lead to invalid or complex values in the equation.

@xe 1.31,1.48

D. z € [~0.17,0.14]
E. z; €[0.83,1.03] and =5 € [0, 3]

33. Solve the rational equation below. Then, choose the interval(s) that the solution(s)

belongs to.
3 62> 4

“or—4  —622—6z+12 3r-3
A. xy € [—4,0] and zo € [—4, 3]

B. z € [—4,0]
C. 1 € [-1,5] and x5 € [—4, 3]
D. z € [-1,5]

@All solutions lead to invalid or complex values in the equation.

Summer C Version A



2. [_9-_9 = - \ R(-3x+2))
-3)(,‘,‘2_ 8('37(4'1)

-H(8(3x+ ) - q(8) = -1
L3 x+y)— 1= -+

Qox- b4 -32=-1

Qox - 136 = -2
dox = 129
96
|STUHE PONAIn!
R,
3x _ _bx? -_N (=2x=9)(3x-3)
=4 () 33

In (=3 - 6xT = “(-1x-Y)
dx* - A% -x* = -8x -I¢
Ixt-G9x =~ —-8x -l6

It X +1b=0

Xz (D E () -Y4(NUL)
(%)

PONAIY:
-x+2 #0
“AIx ¢t -2

x#2 =056
3

=1 Do0M Al 1S AW REAL

NOARERS EXCEPT 0.6

- s T59 CANNOT TALE SOUALE LOOT OF A NEGATIVE !

=700 LE AL SOLUT 10M)



Module 7 - Rational Functions Progress Exam 3

34. Choose the equation of the function graphed below.

S PAL _ 1
P 1y > \ -
21 _

1 * (x+1)
R aso»a=| 01 b C. f(x) = L
A=Wy (z=1)?
- ‘ ~1
0 2 D. f(z) = +1
S - r+1
0= ZT vk = el

35. Choose the graph of the equation below.

< Pare T )= —L 42
-2
FOOCTION s L
Xt / : \
&q:"t = dCO 2 2

%_ 0 2 4 X

Ay =2y, / : \
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Module 8 - Logarithmic and Exponential Functions Progress Exam 3
36. Which of the following intervals describes the Range of the function below?

f(x) =logy (x —7)+8

A (—oo,a),a € [-875,—796 T FANGE OF LOOARITHM

B (coodac 708 6535 TONCTIONSIS AUNANS (=62 00)
C. (—00,a),a € [7.21,8.03]

D. [a,00),a € [5.26,7.92]

@( 00, 00)

37. Which of the following intervals describes the Domain of the function below?

fla) =—e5 =7

(a,00),a € [4,10] A DOMAID OF EXPONE ~ITIAL
(

—o0,a),a € [~12, 3] FONCTIDNS 1S ALWAYS (—o, )
la,0),a € [4,10]

(—o0,al,a € [—12, 3]
(

38. Solve the equation for z and choose the interval that contains the solution (if it exists).

logs (—3z+5)+4=3

.z € [~1.34,-0.85] -‘h’:‘_
€ [1.48,1.94] /0333 (-Sw-s\"-. -]
C. € [1.81,2.61]

D. & € [~7.76,—6.17] TO

E. There is no Real solution to the equatlgn

"2 TOTHE -~ POWER EQUALS -3x+S

-\

3 = -3x 45 —"‘_‘: 3"
‘3 -‘S

L = 3 +5 _

3 /.S =X

|

3 -5 =-3x%
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Module 8 - Logarithmic and Exponential Functions

Progress Exam 3

39. Solve the equation for x and choose the interval that contains x (if it exists).

25

16 = In
633

b -L[ In(25)- x}
62 "L(Ls)

~
Az €[-17,-13] “"""‘((%Y‘) X
B. z € [13, 18] lo= .L[ 25 ‘Z 2
C. z € [27,33) Z[In( "E") (m"“—(zz’ do -x ) (-2)
xe[—29,—26] HO:_.L (n(25)-| (e¥) , (A
E. There is no solution to ‘:h,; equation. ! ] t;z + l’\(2§\ =X
1938 =

40. Solve the equation for x and choose the interval that contains the solution (if it exists).

1

27256«%5 — (_

=

5

27
we[ 095, -0.37] TS _ I-qx-s
B. z € [-3.7,-2] _Zl-‘lx—s

[

C. x €[0.1,1.48] SIx+T
D. z € [2.4,3.24] "\(‘L )= ,"(

E. There is no Real solution to the equation.

(<135 (D)2 ()= In(277 %)
“Wila() +5M(2)2 0- [(-x=5)In(27)
& 3

(T I(2) 2 = [“xla (233- S In(23))
=2xIn(2Y+73 In(2) = U~ (23 A (1)

Sla(2y = Yxla(3VF2xin(2y +5 1A (23
=sSln(23) = “Sin(z)y

Slha(zy-SIh(17y= Yxla(21) $2xIn(z
SIMDV=SIn(22) = X(Y1n(23) +2in(2))

I (D)=-FIn (23

=x= -0.89
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